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I. Multiple Choices (單選題，42 points, with 3 points for each question)
Ch 34

1.
Suppose the MPC is 0.80. Assume there are no crowding out or investment accelerator effects.  If the government decreases taxes by $200 billion how does aggregate demand shift?

a. $160 billion

b. $200 billion

c. $800 billion

d. $1000 billion
Ch 26, 32

2.  If a government increases its budget deficit, then interest rates
a. rise and the real exchange rate appreciates.
b. fall and the real exchange rate depreciates.
c. rise and the real exchange rate depreciates.
d. fall and the real exchange rate appreciates.
Ch 30

3.  If Y and V are constant, and M doubles, the quantity equation implies that the price level
a. changes but less than doubles.
b. doubles.
c. more than doubles.
d. does not change
Ch 31

4.  
If you were told that the exchange rate was 1.2 Canadian dollars per U.S. dollar, a watch that costs $12 US dollars would cost 

a.
$8.5 Canadian dollars.

b.
$10 Canadian dollars. 

c.
$12.20 Canadian dollars.

d.
$14.40 Canadian dollars.

Ch 31
5.  Which of the following would be consistent with an increase in the U.S. real interest rate? 

a.
a Swiss bank purchases a U.S. bond instead of the German bond it had considered purchasing.
b.
firms decide to do more investment spending.
c.
a U.S. citizen decides to put less money in his savings account than he had


planned to.
d.
All of the above are consistent.
Ch 30

6.

The cost of changing price tags and price listings is known as

a.
shoeleather costs.
b.
menu costs.
c.
inflation-induced tax distortions.
d.
relative-price variability costs.

Ch 23, 26, 31
7.  If there is a trade deficit, then

a.
saving is greater than domestic investment and Y > C + I + G.

b.
saving is greater than domestic investment and Y < C + I + G.

c.
saving is less than domestic investment and Y > C +I + G.

d.
saving is less than domestic investment and Y < C + I + G.

Ch 32
8. According to purchasing-power parity theory, if a McDonald's Big Mac cost $4 in the United States and 120 N.T. dollars in Taiwan, then the nominal exchange rate should be

a. 30 N.T. dollars per U.S. dollar.

b. 1/30 N.T. dollars per U.S. dollar.

c. 1/40 N.T. dollars per U.S. dollar.

d. None of the above is correct.
Ch 30, 33-34

9.  Which of the following is correct?

a.
The short-run, but not the long-run, aggregate supply curve is consistent with the idea that nominal variables do not affect real variables.

b.
The long-run, but not the short-run, aggregate supply curve is consistent with the idea that nominal variables do not affect real variables.

c.
The long-run and short-run supply curves are both consistent with the idea that nominal variables affect real variables.

d.
Neither the long-run nor the short-run aggregate supply curve is consistent with the idea that nominal variables affect real variables.

Ch 32
10. Suppose the real exchange rate is 1/2 gallon of U.S. gasoline per gallon of Taiwan gasoline, a gallon of U.S. gasoline costs US$2.0, and a gallon of Taiwan gas costs NT$30. What is the nominal exchange rate?

a. NT 30 dollars per U.S. dollar

b. NT 15 dollars per U.S. dollar

c. NT 60 dollars per U.S. dollar

d. None of the above is correct.

Ch 30

11. If at some interest rate the quantity of money supplied is greater than the quantity of money demanded, people will desire to

a.  sell interest-bearing assets causing the interest rate to decrease.

b. sell interest-bearing assets causing the interest rate to increase.

c. buy interest-bearing assets causing the interest rate to decrease.

d. buy interest-bearing assets causing the interest rate to increase.

Ch 30


12. You put money in an account and earn a real interest rate of 6 percent, inflation is 2 percent, and your marginal tax rate is 20 percent. What is your after-tax real rate of interest?

a.
4.8 percent

b.
3.2 percent

c.
2.8 percent

d.
None of the above is correct.

Ch 33

13.  Other things the same, if workers and firms expected prices to rise by 2 percent but instead they rise by 3 percent, then

a.
employment and production rise.

b.
employment rises and production falls.

c.
employment falls and production rises.

d.
employment and production fall.

Ch 32

14.  In the open-economy macroeconomic model, other things the same, a decrease in the Taiwan interest rate shifts

a.
the demand for dollars in the market for NT$ to the right.

b.
the demand for dollars in the market for NT$ to the left.

c.
the supply of dollars in the market for NT$ to the right.

d.
the supply of dollars in the market for NT$ to the left.

II. 計算題與申論題 (總分：58 分)


(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。

分析題請說明、並依題目要求做圖。)
Ch 31
1. How would the following transactions affect Taiwan’s net capital outflow (NCO)? Increase, decrease, or no impact? (Total:10%, 2% each)

(1) An American cellular phone company establishes an office in the Taiwan.

(2) A Fidelity mutual fund buys stocks in Taiwan’s stock market.

(3) A Fidelity mutual fund sells its Volkswagen stock to a Taiwanese investor.

(4) A U.S. publishing company sells textbooks to Taiwan’s students.

(5) Connie, a Taiwanese, opens and operates a book store in China.

Ch 30, 32
2.  Suppose that a country's central bank increases the money supply.  Please draw graphs and show how this policy affects price level in the long run.  Also indicate how this policy will affect the nominal exchange rate. Explain your answer. (12%)
Ch 32
3.  Recently, more foreigners have been buying Taiwan capital assets. Please draw graphs and explain your answer. (Total:18%)
a. what would happen in the Taiwan market for loanable funds? In particular, what would happen to Taiwan’s interest rates, saving, and investment? (9%)

b. What would happen in the market for foreign-currency exchange market (in terms of NT dollars)? In particular, what would happen to the value of NT dollar and Taiwan’s trade balance? (7%)

Ch 33
4. Suppose that there is no change in the technology level.  There is a boom in the investment demand for capital equipments.  Please draw graphs and explain the short-run and long-run effects on output and the price level, assuming policymakers take no action. (18%)

